[ —

1

TYP(2)PLS

@

TYP(4PLS

(SO

TYP(4PLS

RevISIONS

= e

[ | wom

[a710/70 |

D |ADDED ITEM 13
E |REVISED PICTURE,CHANGED BOT WINDOW

[s/1701

FINAL ASSY
FA-1-4-E

CHAMBER MACHINING

SA-1-4-E

CHAMBER WELDMENT
WA-1-4-F

TOP PL ASSY
SA-2-4-E

BOT PL ASSY
SA-3-4-D

TOP PL DETS
TPD-1-1-A
LV FEED THRU 1 HV FEED THRU
SK-1-1-C SK-3-1-E

HV CONDUCTOR
SK-4-1-A
T

CHAMBER DETAILS CHAMBER DETAILS
WD-1-4-E WD-2-4-E

X X X X
14 | 5 [PAD SA-3-4-DUTEM 15
13 | 4 |cOW VOLTAGE FEED THROUGH ASSY SK-1-1-C
12 | 30 |WASHER,FLAT #10 STL OR SS
11 | 30 |SCRHEX HD #10-32NF X ./5LG STL OR SS
10 | 24 |NUT,HEX 5/16-18NC STL OR SS
S | 24 |WASHER,LOCK 5/16 STL OR SS
8 | 24 |WASHER,FLAT 5/16(75 OD> STL OR SS
7 | 24 |SCRHEX HD 5/16-18NC X 1.25LG STL OR SS
6 S |[CLAMP,WINDOW SA-3-4-DATEM 14
5 5 |WINDOW OPTICAL GLASS(SUPPLIED BY NEVIS)
4 | AR |WIRE,INDIUM 3,095
3 1 |BOTTOM PLATE,DETAILS & ASSEMBLY SA-3-4-D
2 1 |TOP PLATE,DETAILS & ASSEMBLY SA—2-4-E
1 1 |CHAMBER MACHINE ASSEMBLY SA-1-4-E
ITEM |QTY DESCRIPTION MATERIAL/MFG
XRCRIMENTER COLUMBIA UNIVERSITY
DESIGN ENGR. |L.J. ADDESSI NEVIS LABS
APPROVED CCHAMBER
DATEIZ/2/01 | FINAL CHAMBER ASSY | FA-I-L-E
5 4 3 ‘ ) ‘RELEASED—4/3/01




